PHILIPPINE BIDDING DOCUMENTS

(As Harmonized with Development Partners)

Procurement of GOODS

Government of the Republic of the Philippines

SUPPLY AND DELIVERY OF DRUGS AND MEDICINES IB No. 2023-10-080-G

Sixth Edition July 2020

Table of Contents

Glossaı	y of Acronyms, Terms, andError! Bookmark not defined.	Abbreviations
	I. Invitation to Bid	3
	II. Instructions to Bidders	
1.	Scope of Bid	
2.	Funding Information.	
3.	Bidding Requirements	
4.	Corrupt, Fraudulent, Collusive, and Coercive Practices	11
5.	Eligible Bidders	11
6.	Origin of Goods	13
7.	Subcontracts	13
8.	Pre-Bid Conference	13
9.	Clarification and Amendment of Bidding Documents	13
10.	Documents comprising the Bid: Eligibility and Technical Compone	ents13
11.	Documents comprising the Bid: Financial Component	14
12.	Bid Prices	14
13.	Bid and Payment Currencies	14
14.	Bid Security	15
15.	Sealing and Marking of Bids	15
16.	Deadline for Submission of Bids	15
17.	Opening and Preliminary Examination of Bids	15
18.	Domestic Preference	16
19.	Detailed Evaluation and Comparison of Bids	16
20.	Post-Qualification	
21.	Signing of the Contract	16
Section	III. Bid Data Sheet	17
Section	IV. General Conditions of Contract	23
1.	Scope of Contract	24
2.	Advance Payment and Terms of Payment	24
3.	Performance Security	24
4.	Inspection and Tests	24
5.	Warranty	25
6.	Liability of the Supplier	25
Section	V. Special Conditions of Contract	26
Section	VI. Schedule of Requirements	31
	VII. Technical Specifications	
	VIII. Checklist of Technical and Financial Documents	

Section I. Invitation to Bid

FAR NORTH LUZON GENERAL HOSPITAL & TRAINING CENTER QUIRINO, LUNA, APAYAO

INVITATION TO BID FOR SUPPLY AND DELIVERY OF DRUGS AND MEDICINES IB NO. 2023-10-080-G

1. The FAR NORTH LUZON GENERAL HOSPITAL & TRAINING CENTER, through the BUSINESS-RELATED FUND 2023 intends to apply the sum of PhP 4,452,357.20 being the ABC to payments under the contract for the SUPPLY AND DELIVERY OF DRUGS AND MEDICINES. Bids received in excess of the ABC for each item shall be automatically rejected at bid opening.

LINE ITEM PROCUREMENT:

11	LINE ITEM PROCU		119	Takal Cod
Unit	Item Description	Quantity	Unit Cost	Total Cost
amp	Acetylcysteine 100mg/ml, 3ml Respiratory Solution	100	115.00	11,500.00
tab	Aciclovir 800mg	400	32.75	13,100.00
vial	Albumin, Human 20%, 50ml Solution for IV Infusion	200	2,000.00	400,000.00
tab	Amiodarone 200mg	100	20.00	2,000.00
vial	Ampicillin 1g Powder for Injection	1,000	27.88	27,880.00
vial	Ampicillin 250mg Powder for Injection	1,000	25.00	25,000.00
amp	Ascorbic Acid 250mg/ml, 2ml Solution for Injection	100	28.18	2,818.00
tab	Atenolol 100mg	100	6.00	600.00
tab	Atorvastatin 20mg	5,000	6.00	30,000.00
tab	Atorvastatin 40mg	1,000	9.00	9,000.00
tab	Atorvastatin 80mg	800	20.00	16,000.00
amp	Atropine sulfate 1mg/ml, 1ml Solution for Injection (IM/IV)	50	115.00	5,750.00
tab	Azithromycin 500mg	2,000	15.00	30,000.00
vial	Benzylpenicillin 1M Units Powder for Injection (IM/IV)	600	18.50	11,100.00
neb	Budesonide 250mcg/ml, 2ml Respiratory Suspension	200	32.00	6,400.00
canister	Budesonide+fromoterol 160mcg/4.5mcg x 120 doses Metered Dose Inhaler	24	834.00	20,016.00
vial	Cefazolin 1g vial powder for Injection (IM/IV)	500	140.00	70,000.00
bot	Cefixime 100mg/5ml , 60ml Oral Suspension	50	142.00	7,100.00
bot	Cefixime 20mg/ml, 10ml Oral Drops	20	131.00	2,620.00
vial	Cefoxitin 1g powder for Injection (IM/IV)	200	235.00	47,000.00
vial	Ceftriaxone 1g powder for Injection (IM/IV)	3,000	56.00	168,000.00
bot	Cefuroxime 250mg/5ml, 120ml Oral Suspension	60	230.00	13,800.00
tab	Cefuroxime 500mg	9,000	15.00	135,000.00
сар	Celecoxib 200mg	4,000	4.80	19,200.00
bot	Chlorhexidine 0.12%, 120ml Oral solution	100	136.66	13,666.00

amp	Clindamycin 150mg/ml, 4ml Solution for Injection (IM/IV)	1,000	150.00	150,000.00
bot	Clindamycin 75mg/5ml, 60ml Oral Suspension	20	473.82	9,476.40
tube	Clobetasol 0.05%, 5g cream	40	55.00	2,200.00
tab	Clonidine 75mcg	1,200	6.15	7,380.00
tab	Clopidogrel 75mg	1,000	6.45	6,450.00
tube	Clotrimazole 1%, 10g cream	80	250.00	20,000.00
bot	Co-amoxiclav 200mg/28.5/5ml, 70ml Oral Suspension	80	200.00	16,000.00
bot	Co-amoxiclav 400mg/57mg/5ml, 70ml Oral Suspension	40	299.97	11,998.80
amp	Digoxin 250mcg /ml, 2ml Solution for Injection (IM/IV)	100	200.00	20,000.00
bot	Digoxin 50mcg /ml, 60ml Oral Elixir	20	787.00	15,740.00
tab	Dydrogesterone 10mg	400	89.00	35,600.00
tab	Enalapril maleate 5mg	1,600	4.00	6,400.00
PFS	Enoxaparin 100mg/ml, 0.4ml Solution for Injection (SC)	600	500.00	300,000.00
PFS	Enoxaparin 100mg/ml, 0.6ml Solution for Injection (SC)	200	500.00	100,000.00
PFS	Epoetin alfa 4000IU/0.4ml Solution for Injection (IV/SC)	100	530.00	53,000.00
tab	Erythromycin 500mg	100	5.20	520.00
bot	Ferrous Sulfate (15mg/0.6ml), 15ml Oral drops	40	25.00	1,000.00
bot	Ferrous Sulfate (30mg/5ml) Syrup, 60ml	40	24.00	960.00
сар	Fluconazole 50mg	100	80.00	8,000.00
Canister	Fluticasone+Salmeterol	40	345.00	13,800.00
	125mcg+25mcgx120 actuations Metered Dose Inhaler (MDI)			·
canister	Fluticasone+Salmeterol 250mcg+25mcgx120 actuations Metered Dose Inhaler (MDI)	100	520.00	52,000.00
tab	Furosemide 20mg	100	2.15	215.00
tube	Fusidate/ Fusidic Acid 2%, 15g ointment	40	230.00	9,200.00
сар	Gabapentin 100mg	400	22.00	8,800.00
сар	Gabapentin 300mg	700	30.00	21,000.00
amp	Gentamycin 40mg/ml, 2ml Solution for Injection (IM/IV)	400	29.45	11,780.00
vial	Glucose (Dextrose) 50%, 50ml Solution for Injection (IV)	400	78.00	31,200.00
amp	Glyceryl trinitrate (Nitroglycerine) 1mg/ml, 10ml Solution for IV Infusion	30	436.80	13,104.00
vial	Hydrocortisone 100mg Powder for Injection (IM/IV)	2,000	70.00	140,000.00
vial	Hydrocortisone 250mg Powder for Injection (IM/IV)	600	140.00	84,000.00
tab	Hydroxyurea 500mg	80	32.50	2,600.00
vial	lopamidol 612mg/ml equiv. to 300mg lodine, 50ml Solution for Injection (IV)	200	950.00	190,000.00
vial	Isophane Insulin Human (Recombinant DNA) 100IU/ml, 10ml Vial	80	398.00	31,840.00
tab	Isosorbide-5-mononitrate 60mg Modified Release	200	7.50	1,500.00

k s.ls	Learnhiste distance For a Coldination	400	20.00	0.000.00
tab	Isosorbide dinitrate 5mg Sublingual	400	20.00	8,000.00
tab	Itraconazole 10mg	240	35.00	8,400.00
tab	Lagundi 600mg	200	4.00	800.00
bot	Lagundi 300mg/5ml syrup, 120ml	20	75.00	1,500.00
tab	Lamotrigine 50mg	80	5.70	456.00
tab	Lamotrigine 100mg	80	7.75	620.00
cap	Lanzoprazole 30mg	100	28.00	2,800.00
vial	Latanoprost 50mcg/ml, 2.5ml Eye drops	20	600.00	12,000.00
bot	Levetiracetam 100mg/ml, 300ml Oral Solution	10	1,730.68	17,306.80
vial	Levofloxacin 5mg/ml, 100ml Solution for IV Infusion	40	935.00	37,400.00
tab	Levofloxacin 750mg	80	62.00	4,960.00
tab	Levothyroxine 50mcg	400	5.60	2,240.00
tab	Levothyroxine 100mcg	80	9.50	760.00
vbot	Lidocaine Hcl 10%, 50ml Spray	10	2,700.00	27,000.00
tab	Losartan K 100mg	1,800	6.98	12,564.00
vial	Magnesium sulafte 250mg/ml, 10ml Solution for Injection(IM/IV)	600	92.34	55,404.00
tab	Memantine 10mg	80	19.80	1,584.00
tab	Metformin 500mg	4,000	2.00	8,000.00
tab	Methimazole (Thiamazole) 5mg	80	9.50	760.00
tab	Methimazole 10mg	80	9.50	760.00
tab	Methyldopa 250mg	800	15.00	12,000.00
tab	Mesalazine 500mg	80	68.60	5,488.00
tab	Moxifloxacin 400mg	100	120.00	12,000.00
cap	Multivitamins for adults	3,000	3.80	11,400.00
bot	Multivitamins Syrup, 60ml	144	40.00	5,760.00
bot	Multivitamins Syrup, 15ml Oral drops	72	40.00	2,880.00
tube	Mupirocin 2%, 15g Topical Ointment	200	135.00	27,000.00
tab	Mycophenolic Mofetil 500mg	80	54.48	4,358.40
tab	Naproxen 550mg	100	10.00	1,000.00
cap	Nifedipine 10mg	200	8.50	1,700.00
	Nifedipine 30mg	40	27.52	1,100.80
tab	Nimodipine 30mg	300	27.52	8,256.00
tab	Nitrofurantion 100mg		17.25	
	Note of the second seco	80		1,380.00
amp	Injection (IV) Nystatin Oral, 100,000 units/ml, 30ml	600	200.00	120,000.00
bot	Oral Suspension	20	218.00	4,360.00
cap	Omeprazole 40mg	2,000	6.00	12,000.00
vial	Omeprazole 40mg Lyophilized Powder for Injection (IV)	4,000	50.00	200,000.00
tab	Pantoprazole 40mg	80	18.00	1,440.00
bot	Paracetamol 100mg/ml Syrup, 15ml Oral Drops	72	25.00	1,800.00
bot	Paracetamol 125mg/5ml Syrup, 60ml	72	22.00	1,584.00
tab	Paracetamol 500MG	4,000	2.20	8,800.00
cap	Phenytoin 100mg	200	30.00	6,000.00
vial	Piperacillin+Tazobactam 4g+500mg Powder for Injection(IV)	800	250.00	200,000.00
bot	Prednisone 10mg/5ml, 60ml Oral Suspension	72	140.00	10,080.00

tab	Prednisone 20mg	200	6.00	1,200.00
tab	Propranolol HCl 10mg	1,000	7.70	7,700.00
tab	Ranitidine 300mg	100	3.00	300.00
tab	Sacubitril+Valsartan 50mg (24.3mg+25.7mg)	2,000	60.78	121,560.00
tab	Sacubitril+Valsartan 100mg (48.6mg+51.4mg)	200	61.88	12,376.00
Canister	Salbutamol Breath- actuated100mcg/dose, 200 actuation Metered Dose Inhaler	80	121.68	9,734.40
tab	Sambong 500mg	4,000	6.50	26,000.00
tab	Sevelamer Carbonate 800mg	100	38.09	3,809.00
bot	Sevoflurane 100%, 250ml Volatile Liquid for Inhalation	25	7,000.00	175,000.00
vial	Sodium Hyaluronate 0.1% ,5ml Opthalmic drops	40	322.05	12,882.00
tab	Spironolactone 25mg	1,200	11.20	13,440.00
tab	Spironolactone 100mg	200	33.00	6,600.00
tab	Standard Senna Concentrate 187mg	200	12.95	2,590.00
cap	Tamsulosin 400mcg Prolonged- Released	100	18.00	1,800.00
amp	Terbutaline 500mcg/ml, 1ml Solution for Injection (IM/IV/SC)	20	98.88	1,977.60
amp	Tranexamic acid 100mg/ml, 5ml Solution for Injection (IM/IV)	3,000	40.00	120,000.00
tab	Trimetazidine 35mg Modified Released	2,000	8.50	17,000.00
tab	Ursodeoxycholic Acid 250mg tablet	200	34.14	6,828.00
tab	Vitamin B-complex 100mg/5mg/50mcg	4,000	4.00	16,000.00
amp	Vitamin B-complex 100mg/100mg/1mg, 3ml Solution for Injection (IM/IV)	400	50.00	20,000.00
bot	Zinc sulfate 27.5mg/ml,(10mg Elemental Zinc), 15ml Oral drops	72	42.00	3,024.00
bot	Zinc sulfate 55mg/5ml,(20mg Elemental Zinc), 60ml Syrup	144	42.00	6,048.00
bot	5% Dextrose in 0.3Nacl 500ml Solution for IV Infusion	2,400	69.89	167,736.00
bot	Balance Multiple Maintenance Solution+5% Dextrose, 500ml Soultion for IV Infusion	2,400	79.89	191,736.00
Vial	Sterile water for injection 100ml Solution	4,000	45.00	180,000.00
			1	

- 2. The FNLGHTC now invites bids for the above Procurement Project. Delivery of the Goods is required by 30 days Upon Receipt of NTP. Bidders should have completed, within **2 years** from the date of submission and receipt of bids, a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents, particularly, in Section II (Instructions to Bidders).
- 3. Bidding will be conduct through open competitive bidding procedures using a non-discretionary "pass/fail" criterion as specified in the 2016 revised Implementing Rules and Regulations (IRR) of Republic Act (RA) No. 9184.
 - a. Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock

belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA No. 5183.

- 4. Prospective Bidders may obtain further information from **Far North Luzon General Hospital & Training Center, Procurement Office Administrative Building** and inspect the Bidding Documents at the address given below during **Monday Friday, 8:00AM 5:00PM.**
- 5. A complete set of Bidding Documents may be acquired by interested Bidders on **November 7-November 20, 2023** from the given address and website(s) below upon payment of nonrefundable fee for the Bidding Documents, pursuant to the latest Guidelines issued by the GPPB, in the amount of **PhP5,000.00**. The Procuring Entity shall allow the bidder **to present its proof of payment for the fees in person**.

It may also be downloaded free of charge from the website of the Procuring Entity, provided that the Bidders shall pay the nonrefundable fee for the bidding documents not later than the submission of their bids.

- 6. The FNLGHTC will hold a Pre-Bid Conference¹ on November 7, 2023, 10:00 AM at Far North Luzon General Hospital & Training Center, DAD's Hall Administrative Building which shall be open to prospective bidders.
- 7. Bids must be duly receive by the BAC Secretariat through manual submission at the office address indicated below, on or before **November 20, 2023 10:00AM**. Late bids shall not be accepted.
- 8. All Bids must be accompanied by a bid security in any of the acceptable forms and in the amount stated in **ITB** Clause 14.
- 9. Bid opening shall be on **November 20, 2023 10:00AM** at the given address below. Bids will be opened in the presence of the bidders' representatives who choose to attend the activity.
- 10. The Far North Luzon General Hospital and Training Center reserves the right to reject any and all bids, declare a failure of bidding, or not award the contract at any time prior to contract award in accordance with Sections 35.6 and 41 of the 2016 revised IRR of RA No. 9184, without thereby incurring any liability to the affected bidder or bidders.
- 11. For further information, please refer to:

 [JULIET A. CABRERA]

 [PROCUREMENT OFFICE]

 [FAR NORTH LUZON GENERAL HOSPITAL & TRAINING

 CENTER, QUIRINO LUNA, APAYAO]

 [julietcabrera30@yahoo.com]

 [0918-9065148]
- 12. You may visit the following websites:

For downloading of Bidding Documents: [http://fnlghtc.doh.gov.ph]

¹ May be deleted in case the ABC is less than One Million Pesos (PhP1,000,000) where the Procuring Entity may not hold a Pre-Bid Conference.



Section II. Instructions to Bidders

1. Scope of Bid

The Procuring Entity, FNLGHTC wishes to receive Bids for the SUPPLY AND DELIVERY OF DRUGS AND MEDICINES, with identification IB No. 2023-10-080-G.

The Procurement Project (referred to herein as "Project") is composed of 128 ITEMS. The details of which are described in Section VII (Technical Specifications).

2. Funding Information

- 2.1. The GOP through the source of funding as indicated below for the BUSINESS-RELATED FUND 2023 in the amount of 4,452,357.20.
- 2.2. The source of funding is:
 - a. NGA, the General Appropriations Act or Special Appropriations.

3. Bidding Requirements

The Bidding for the Project shall be governed by all the provisions of RA No. 9184 and its 2016 revised IRR, including its Generic Procurement Manuals and associated policies, rules and regulations as the primary source thereof, while the herein clauses shall serve as the secondary source thereof.

Any amendments made to the IRR and other GPPB issuances shall be applicable only to the ongoing posting, advertisement, or **IB** by the BAC through the issuance of a supplemental or bid bulletin.

The Bidder, by the act of submitting its Bid, shall be deemed to have verified and accepted the general requirements of this Project, including other factors that may affect the cost, duration and execution or implementation of the contract, project, or work and examine all instructions, forms, terms, and project requirements in the Bidding Documents.

4. Corrupt, Fraudulent, Collusive, and Coercive Practices

The Procuring Entity, as well as the Bidders and Suppliers, shall observe the highest standard of ethics during the procurement and execution of the contract. They or through an agent shall not engage in corrupt, fraudulent, collusive, coercive, and obstructive practices defined under Annex "I" of the 2016 revised IRR of RA No. 9184 or other integrity violations in competing for the Project.

5. Eligible Bidders

5.1. Only Bids of Bidders found to be legally, technically, and financially capable will be evaluated.

- 5.2. Foreign ownership exceeding those allowed under the rules may participate pursuant to:
 - i. When a Treaty or International or Executive Agreement as provided in Section 4 of the RA No. 9184 and its 2016 revised IRR allow foreign bidders to participate;
 - ii. Citizens, corporations, or associations of a country, included in the list issued by the GPPB, the laws or regulations of which grant reciprocal rights or privileges to citizens, corporations, or associations of the Philippines;
 - iii. When the Goods sought to be procured are not available from local suppliers; or
 - iv. When there is a need to prevent situations that defeat competition or restrain trade.
 - a. Foreign ownership limited to those allowed under the rules may participate in this Project.
- 5.3. Pursuant to Section 23.4.1.3 of the 2016 revised IRR of RA No.9184, the Bidder shall have an SLCC that is at least one (1) contract similar to the Project the value of which, adjusted to current prices using the PSA's CPI, must be at least equivalent to:
 - a. For the procurement of Non-expendable Supplies and Services: The Bidder must have completed a single contract that is similar to this Project, equivalent to at least fifty percent (50%) of the ABC.
 - b. For the procurement of Expendable Supplies: The Bidder must have completed a single contract that is similar to this Project, equivalent to at least twenty-five percent (25%) of the ABC.
 - c. For procurement where the Procuring Entity has determined, after the conduct of market research, that imposition of either (a) or (b) will likely result to failure of bidding or monopoly that will defeat the purpose of public bidding: the Bidder should comply with the following requirements: [Select either failure or monopoly of bidding based on market research conducted]
 - i. Completed at least two (2) similar contracts, the aggregate amount of which should be equivalent to at least fifty percent (50%) in the case of non-expendable supplies and services or twenty-five percent (25%) in the case of expendable supplies] of the ABC for this Project; and
 - ii. The largest of these similar contracts must be equivalent to at least half of the percentage of the ABC as required above.

5.4. The Bidders shall comply with the eligibility criteria under Section 23.4.1 of the 2016 IRR of RA No. 9184.

6. Origin of Goods

There is no restriction on the origin of goods other than those prohibited by a decision of the UN Security Council taken under Chapter VII of the Charter of the UN, subject to Domestic Preference requirements under **ITB** Clause 18.

7. Subcontracts

- 7.1 The Procuring Entity has prescribed that:
 - a. Subcontracting is not allowed.

8. Pre-Bid Conference

The Procuring Entity will hold a pre-bid conference for this Project on the specified date and time and either at its physical address and/or through videoconferencing/webcasting} as indicated in paragraph 6 of the **IB**.

9. Clarification and Amendment of Bidding Documents

Prospective bidders may request for clarification on and/or interpretation of any part of the Bidding Documents. Such requests must be in writing and received by the Procuring Entity, either at its given address or through electronic mail indicated in the **IB**, at least ten (10) calendar days before the deadline set for the submission and receipt of Bids.

10. Documents comprising the Bid: Eligibility and Technical Components

- 10.1. The first envelope shall contain the eligibility and technical documents of the Bid as specified in **Section VIII** (Checklist of Technical, Financial **Documents and Annexes**).
- 10.2. The Bidder's SLCC as indicated in **ITB** Clause 5.3 should have been completed within [state relevant period as provided in paragraph 2 of the **IB**] prior to the deadline for the submission and receipt of bids.
- 10.3. If the eligibility requirements or statements, the bids, and all other documents for submission to the BAC are in foreign language other than English, it must be accompanied by a translation in English, which shall be authenticated by the appropriate Philippine foreign service establishment, post, or the equivalent office having jurisdiction over the foreign bidder's affairs in the Philippines. Similar to the required authentication above, for Contracting Parties to the Apostille Convention, only the translated documents shall be authenticated through an apostille pursuant to GPPB Resolution No. 13-2019 dated 23 May 2019. The English translation shall govern, for purposes of interpretation of the bid.

11. Documents comprising the Bid: Financial Component

- 11.1. The second bid envelope shall contain the financial documents for the Bid as specified in **Section VIII** (**Checklist of Technical, Financial Documents and Annexes**).
- 11.2. If the Bidder claims preference as a Domestic Bidder or Domestic Entity, a certification issued by DTI shall be provided by the Bidder in accordance with Section 43.1.3 of the 2016 revised IRR of RA No. 9184.
- 11.3. Any bid exceeding the ABC indicated in paragraph 1 of the **IB** shall not be accepted.
- 11.4. For Foreign-funded Procurement, a ceiling may be applied to bid prices provided the conditions are met under Section 31.2 of the 2016 revised IRR of RA No. 9184.

12. Bid Prices

- 12.1. Prices indicated on the Price Schedule shall be entered separately in the following manner:
 - a. For Goods offered from within the Procuring Entity's country:
 - i. The price of the Goods quoted EXW (ex-works, ex-factory, exwarehouse, ex-showroom, or off-the-shelf, as applicable);
 - ii. The cost of all customs duties and sales and other taxes already paid or payable;
 - iii. The cost of transportation, insurance, and other costs incidental to delivery of the Goods to their final destination; and
 - iv. The price of other (incidental) services, if any, listed in e.
 - b. For Goods offered from abroad:
 - i. Unless otherwise stated in the **BDS**, the price of the Goods shall be quoted delivered duty paid (DDP) with the place of destination in the Philippines as specified in the **BDS**. In quoting the price, the Bidder shall be free to use transportation through carriers registered in any eligible country. Similarly, the Bidder may obtain insurance services from any eligible source country.
 - ii. The price of other (incidental) services, if any, as listed in **Section VII (Technical Specifications).**

13. Bid and Payment Currencies

- 13.1. For Goods that the Bidder will supply from outside the Philippines, the bid prices may be quoted in the local currency or tradeable currency accepted by the BSP at the discretion of the Bidder. However, for purposes of bid evaluation, Bids denominated in foreign currencies, shall be converted to Philippine currency based on the exchange rate as published in the BSP reference rate bulletin on the day of the bid opening.
- 13.2. Payment of the contract price shall be made in:
 - a. Philippine Pesos.

14. Bid Security

- 14.1. The Bidder shall submit a Bid Securing Declaration² or any form of Bid Security in the amount indicated in the **BDS**, which shall be not less than the percentage of the ABC in accordance with the schedule in the **BDS**.
- 14.2. The Bid and bid security shall be valid until **March 19, 2024**. Any Bid not accompanied by an acceptable bid security shall be rejected by the Procuring Entity as non-responsive.

15. Sealing and Marking of Bids

Each Bidder shall submit "Original Copy", "Copy 1" and "Copy 2" of the first and second components of its Bid.

The Procuring Entity may request additional hard copies and/or electronic copies of the Bid. However, failure of the Bidders to comply with the said request shall not be a ground for disqualification.

• All submitted documents should be placed in **ROYAL BLUE ENVELOPE AND FOLDER**.

16. Deadline for Submission of Bids

16.1. The Bidders shall submit on the specified date and time and either at its physical address or through online submission as indicated in paragraph 7 of the **IB**.

17. Opening and Preliminary Examination of Bids

17.1. The BAC shall open the Bids in public at the time, on the date, and at the place specified in paragraph 9 of the **IB**. The Bidders' representatives who are present shall sign a register evidencing their attendance. In case videoconferencing, webcasting or other similar technologies will be used, attendance of participants shall likewise be recorded by the BAC Secretariat.

² In the case of Framework Agreement, the undertaking shall refer to entering into contract with the Procuring Entity and furnishing of the performance security or the performance securing declaration within ten (10) calendar days from receipt of Notice to Execute Framework Agreement.

In case the Bids cannot be opened as scheduled due to justifiable reasons, the rescheduling requirements under Section 29 of the 2016 revised IRR of RA No. 9184 shall prevail.

17.2. The preliminary examination of bids shall be governed by Section 30 of the 2016 revised IRR of RA No. 9184.

18. Domestic Preference

18.1. The Procuring Entity will grant a margin of preference for the purpose of comparison of Bids in accordance with Section 43.1.2 of the 2016 revised IRR of RA No. 9184.

19. Detailed Evaluation and Comparison of Bids

- 19.1. The Procuring BAC shall immediately conduct a detailed evaluation of all Bids rated "passed," using non-discretionary pass/fail criteria. The BAC shall consider the conditions in the evaluation of Bids under Section 32.2 of the 2016 revised IRR of RA No. 9184.
- 19.2. The descriptions of the lots or items shall be indicated in **Section VII** (**Technical Specifications**), although the ABCs of these lots or items are indicated in the **BDS** for purposes of the NFCC computation pursuant to Section 23.4.2.6 of the 2016 revised IRR of RA No. 9184. The NFCC must be sufficient for the total of the ABCs for all the lots or items participated in by the prospective Bidder.
- 19.3. The Project shall be awarded as follows:

One Project having several items that shall be awarded as one contract.

19.4. Except for bidders submitting a committed Line of Credit from a Universal or Commercial Bank in lieu of its NFCC computation, all Bids must include the NFCC computation pursuant to Section 23.4.1.4 of the 2016 revised IRR of RA No. 9184, which must be sufficient for the total of the ABCs for all the lots or items participated in by the prospective Bidder. For bidders submitting the committed Line of Credit, it must be at least equal to ten percent (10%) of the ABCs for all the lots or items participated in by the prospective Bidder.

20. Post-Qualification

20.2. Within a non-extendible period of five (5) calendar days from receipt by the Bidder of the notice from the BAC that it submitted the Lowest Calculated Bid, the Bidder shall submit its latest income and business tax returns filed and paid through the BIR Electronic Filing and Payment System (eFPS) and other appropriate licenses and permits required by law and stated in the BDS.

21. Signing of the Contract

21.1. The documents required in Section 37.2 of the 2016 revised IRR of RA No. 9184 shall form part of the Contract. Additional Contract documents are indicated in the **BDS**.

Section III. Bid Data Sheet

Bid Data Sheet

ITB Clause							
5.3	For this 1	ourpose, contracts similar to the Project sh	nall be:				
	a. SUPPLY AND DELIVERY OF DRUGS AND MEDICINES completed						
	within 2 Years prior to the deadline for the submission and receipt of bids.						
7.1		racting is not Allowed					
7.1	Subconti	acting is not Anowed					
12	and Tra	e of the Goods shall be quoted DDP Far Nining Center or the applicable Interrese. ERMS) for this Project.					
14.1		security shall be in the form of a Bid Security shall be in the form of a Bid Security forms and amounts:	ring Decla	ration, or any of the			
	ir						
	b. The amount of not less than five percent (5%) of ABC if bid security is in Surety Bond.						
19.3	Unit	Item Description	Quantity				
	amp	Acetylcysteine 100mg/ml, 3ml Respiratory Solution	100				
	tab	Aciclovir 800mg	400				
	tab vial	Aciclovir 800mg Albumin, Human 20%, 50ml Solution for IV Infusion	200				
		Albumin, Human 20%, 50ml Solution for IV					
	vial	Albumin, Human 20%, 50ml Solution for IV Infusion	200				
	vial tab	Albumin, Human 20%, 50ml Solution for IV Infusion Amiodarone 200mg	200				
	vial tab vial	Albumin, Human 20%, 50ml Solution for IV Infusion Amiodarone 200mg Ampicillin 1g Powder for Injection	200 100 1,000 1,000 100				
	vial tab vial	Albumin, Human 20%, 50ml Solution for IV Infusion Amiodarone 200mg Ampicillin 1g Powder for Injection Ampicillin 250mg Powder for Injection	200 100 1,000 1,000 100 100				
	vial tab vial vial amp	Albumin, Human 20%, 50ml Solution for IV Infusion Amiodarone 200mg Ampicillin 1g Powder for Injection Ampicillin 250mg Powder for Injection Ascorbic Acid 250mg/ml, 2ml Solution for Injection	200 100 1,000 1,000 100 100 5,000				
	vial tab vial vial amp tab tab	Albumin, Human 20%, 50ml Solution for IV Infusion Amiodarone 200mg Ampicillin 1g Powder for Injection Ampicillin 250mg Powder for Injection Ascorbic Acid 250mg/ml, 2ml Solution for Injection Atenolol 100mg Atorvastatin 20mg Atorvastatin 40mg	200 100 1,000 1,000 100 100 5,000 1,000				
	vial tab vial vial amp tab	Albumin, Human 20%, 50ml Solution for IV Infusion Amiodarone 200mg Ampicillin 1g Powder for Injection Ampicillin 250mg Powder for Injection Ascorbic Acid 250mg/ml, 2ml Solution for Injection Atenolol 100mg Atorvastatin 20mg	200 100 1,000 1,000 100 100 5,000				
	vial tab vial vial amp tab tab	Albumin, Human 20%, 50ml Solution for IV Infusion Amiodarone 200mg Ampicillin 1g Powder for Injection Ampicillin 250mg Powder for Injection Ascorbic Acid 250mg/ml, 2ml Solution for Injection Atenolol 100mg Atorvastatin 20mg Atorvastatin 40mg Atorvastatin 80mg	200 100 1,000 1,000 100 100 5,000 1,000				
	vial tab vial vial amp tab tab tab	Albumin, Human 20%, 50ml Solution for IV Infusion Amiodarone 200mg Ampicillin 1g Powder for Injection Ampicillin 250mg Powder for Injection Ascorbic Acid 250mg/ml, 2ml Solution for Injection Atenolol 100mg Atorvastatin 20mg Atorvastatin 40mg	200 100 1,000 1,000 100 5,000 1,000 800				
	vial tab vial amp tab tab tab tab amp	Albumin, Human 20%, 50ml Solution for IV Infusion Amiodarone 200mg Ampicillin 1g Powder for Injection Ampicillin 250mg Powder for Injection Ascorbic Acid 250mg/ml, 2ml Solution for Injection Atenolol 100mg Atorvastatin 20mg Atorvastatin 40mg Atorvastatin 80mg Atropine sulfate 1mg/ml, 1ml Solution for Injection (IM/IV)	200 100 1,000 1,000 100 5,000 1,000 800				

	T	1	
canister	Budesonide+fromoterol 160mcg/4.5mcg x 120 doses Metered Dose Inhaler	24	
vial	Cefazolin 1g vial powder for Injection (IM/IV)	500	
bot	Cefixime 100mg/5ml , 60ml Oral Suspension	50	
bot	Cefixime 20mg/ml, 10ml Oral Drops	20	
vial	Cefoxitin 1g powder for Injection (IM/IV)	200	
vial	Ceftriaxone 1g powder for Injection (IM/IV)	3,000	
bot	Cefuroxime 250mg/5ml, 120ml Oral Suspension	60	
tab	Cefuroxime 500mg	9,000	
cap	Celecoxib 200mg	4,000	
bot	Chlorhexidine 0.12%, 120ml Oral solution	100	
amp	Clindamycin 150mg/ml, 4ml Solution for Injection (IM/IV)	1,000	
bot	Clindamycin 75mg/5ml, 60ml Oral Suspension	20	
tube	Clobetasol 0.05%, 5g cream	40	
tab	Clonidine 75mcg	1,200	
tab	Clopidogrel 75mg	1,000	
tube	Clotrimazole 1%, 10g cream	80	
bot	Co-amoxiclav 200mg/28.5/5ml, 70ml Oral Suspension	80	
bot	Co-amoxiclav 400mg/57mg/5ml, 70ml Oral Suspension	40	
amp	Digoxin 250mcg /ml, 2ml Solution for Injection (IM/IV)	100	
bot	Digoxin 50mcg /ml, 60ml Oral Elixir	20	
tab	Dydrogesterone 10mg	400	
tab	Enalapril maleate 5mg	1,600	
PFS	Enoxaparin 100mg/ml, 0.4ml Solution for Injection (SC)	600	
PFS	Enoxaparin 100mg/ml, 0.6ml Solution for Injection (SC)	200	
PFS	Epoetin alfa 4000IU/0.4ml Solution for Injection (IV/SC)	100	
tab	Erythromycin 500mg	100	
bot	Ferrous Sulfate (15mg/0.6ml), 15ml Oral drops	40	
bot	Ferrous Sulfate (30mg/5ml) Syrup, 60ml	40	
cap	Fluconazole 50mg	100	
Canister	Fluticasone+Salmeterol 125mcg+25mcgx120 actuations Metered Dose Inhaler (MDI)	40	

canister	Fluticasone+Salmeterol 250mcg+25mcgx120 actuations Metered Dose Inhaler (MDI)	100
tab	Furosemide 20mg	100
tube	Fusidate/ Fusidic Acid 2%, 15g ointment	40
cap	Gabapentin 100mg	400
cap	Gabapentin 300mg	700
amp	Gentamycin 40mg/ml, 2ml Solution for Injection (IM/IV)	400
vial	Glucose (Dextrose) 50%, 50ml Solution for Injection (IV)	400
amp	Glyceryl trinitrate (Nitroglycerine) 1mg/ml, 10ml Solution for IV Infusion	30
vial	Hydrocortisone 100mg Powder for Injection (IM/IV)	2,000
vial	Hydrocortisone 250mg Powder for Injection (IM/IV)	600
tab	Hydroxyurea 500mg	80
vial	lopamidol 612mg/ml equiv. to 300mg lodine, 50ml Solution for Injection (IV)	200
vial	Isophane Insulin Human (Recombinant DNA) 100IU/ml, 10ml Vial	80
tab	Isosorbide-5-mononitrate 60mg Modified Release	200
tab	Isosorbide dinitrate 5mg Sublingual	400
tab	Itraconazole 10mg	240
tab	Lagundi 600mg	200
bot	Lagundi 300mg/5ml syrup, 120ml	20
tab	Lamotrigine 50mg	80
tab	Lamotrigine 100mg	80
cap	Lanzoprazole 30mg	100
vial	Latanoprost 50mcg/ml, 2.5ml Eye drops	20
bot	Levetiracetam 100mg/ml, 300ml Oral Solution	10
vial	Levofloxacin 5mg/ml, 100ml Solution for IV Infusion	40
tab	Levofloxacin 750mg	80
tab	Levothyroxine 50mcg	400
tab	Levothyroxine 100mcg	80
vbot	Lidocaine Hcl 10%, 50ml Spray	10
tab	Losartan K 100mg	1,800
vial	Magnesium sulafte 250mg/ml, 10ml Solution for Injection(IM/IV)	600

1	_		
tab	Memantine 10mg	80	
tab	Metformin 500mg	4,000	
tab	Methimazole (Thiamazole) 5mg	80	
tab	Methimazole 10mg	80	
tab	Methyldopa 250mg	800	
tab	Mesalazine 500mg	80	
tab	Moxifloxacin 400mg	100	
cap	Multivitamins for adults	3,000	
bot	Multivitamins Syrup, 60ml	144	
bot	Multivitamins Syrup, 15ml Oral drops	72	
tube	Mupirocin 2%, 15g Topical Ointment	200	
tab	Mycophenolic Mofetil 500mg	80	
tab	Naproxen 550mg	100	
сар	Nifedipine 10mg	200	
сар	Nifedipine 30mg	40	
tab	Nimodipine 30mg	300	
tab	Nitrofurantion 100mg	80	
amp	Norepinephrine 1mg/ml, 4ml Solution for Injection (IV)	600	
bot	Nystatin Oral, 100,000 units/ml, 30ml Oral Suspension	20	
сар	Omeprazole 40mg	2,000	
vial	Omeprazole 40mg Lyophilized Powder for Injection (IV)	4,000	
tab	Pantoprazole 40mg	80	
bot	Paracetamol 100mg/ml Syrup, 15ml Oral Drops	72	
bot	Paracetamol 125mg/5ml Syrup, 60ml	72	
tab	Paracetamol 500MG	4,000	
cap	Phenytoin 100mg	200	
vial	Piperacillin+Tazobactam 4g+500mg Powder for Injection(IV)	800	
bot	Prednisone 10mg/5ml, 60ml Oral Suspension	72	
tab	Prednisone 20mg	200	
tab	Propranolol HCl 10mg	1,000	
tab	Ranitidine 300mg	100	
tab	Sacubitril+Valsartan 50mg (24.3mg+25.7mg)	2,000	
tab	Sacubitril+Valsartan 100mg (48.6mg+51.4mg)	200	

	Canister	Salbutamol Breath-actuated100mcg/dose, 200 actuation Metered Dose Inhaler	80	
	tab	Sambong 500mg	4,000	
	tab	Sevelamer Carbonate 800mg	100	
	bot	Sevoflurane 100%, 250ml Volatile Liquid for Inhalation	25	
	vial	Sodium Hyaluronate 0.1% ,5ml Opthalmic drops	40	
	tab	Spironolactone 25mg	1,200	
	tab	Spironolactone 100mg	200	
	tab	Standard Senna Concentrate 187mg	200	
	сар	Tamsulosin 400mcg Prolonged-Released	100	
	amp	Terbutaline 500mcg/ml, 1ml Solution for Injection (IM/IV/SC)	20	
	amp	Tranexamic acid 100mg/ml, 5ml Solution for Injection (IM/IV)	3,000	
	tab	Trimetazidine 35mg Modified Released	2,000	
	tab	Ursodeoxycholic Acid 250mg tablet	200	
	tab	Vitamin B-complex 100mg/5mg/50mcg	4,000	
	amp	Vitamin B-complex 100mg/100mg/1mg, 3ml Solution for Injection (IM/IV)	400	
	bot	Zinc sulfate 27.5mg/ml,(10mg Elemental Zinc), 15ml Oral drops	72	
	bot	Zinc sulfate 55mg/5ml,(20mg Elemental Zinc), 60ml Syrup	144	
	bot	5% Dextrose in 0.3Nacl 500ml Solution for IV Infusion	2,400	
	bot	Balance Multiple Maintenance Solution+5% Dextrose, 500ml Soultion for IV Infusion	2,400	
	Vial	Sterile water for injection 100ml Solution	4,000	
20.2	[List her law requ	e any licenses and permits relevant to the liring it.]	Project and	d the corresponding
21.2	To subm	it <u>USB in excel format for the Financia</u>	l Bid Docu	<u>ıments</u>

Section IV. General Conditions of Contract

1. Scope of Contract

This Contract shall include all such items, although not specifically mentioned, that can be reasonably inferred as being required for its completion as if such items were expressly mentioned herein. All the provisions of RA No. 9184 and its 2016 revised IRR, including the Generic Procurement Manual, and associated issuances, constitute the primary source for the terms and conditions of the Contract, and thus, applicable in contract implementation. Herein clauses shall serve as the secondary source for the terms and conditions of the Contract.

This is without prejudice to Sections 74.1 and 74.2 of the 2016 revised IRR of RA No. 9184 allowing the GPPB to amend the IRR, which shall be applied to all procurement activities, the advertisement, posting, or invitation of which were issued after the effectivity of the said amendment.

Additional requirements for the completion of this Contract shall be provided in the **Special Conditions of Contract (SCC).**

2. Advance Payment and Terms of Payment

- 2.1. Advance payment of the contract amount is provided under Annex "D" of the revised 2016 IRR of RA No. 9184.
- 2.2. The Procuring Entity is allowed to determine the terms of payment on the partial or staggered delivery of the Goods procured, provided such partial payment shall correspond to the value of the goods delivered and accepted in accordance with prevailing accounting and auditing rules and regulations. The terms of payment are indicated in the **SCC**.

3. Performance Security

Within ten (10) calendar days from receipt of the Notice of Award by the Bidder from the Procuring Entity but in no case later than prior to the signing of the Contract by both parties, the successful Bidder shall furnish the performance security in any of the forms prescribed in Section 39 of the 2016 revised IRR of RA No. 9184

4. Inspection and Tests

The Procuring Entity or its representative shall have the right to inspect and/or to test the Goods to confirm their conformity to the Project at no extra cost to the Procuring Entity in accordance with the Generic Procurement Manual. In addition to tests in the SCC, Section IV (Technical Specifications) shall specify what inspections and/or tests the Procuring Entity requires, and where they are to be conducted. The Procuring Entity shall notify the Supplier in writing, in a timely manner, of the identity of any representatives retained for these purposes.

All reasonable facilities and assistance for the inspection and testing of Goods, including access to drawings and production data, shall be provided by the Supplier to the authorized inspectors at no charge to the Procuring Entity.

5. Warranty

- 6.1. In order to assure that manufacturing defects shall be corrected by the Supplier, a warranty shall be required from the Supplier as provided under Section 62.1 of the 2016 revised IRR of RA No. 9184.
- 6.2. The Procuring Entity shall promptly notify the Supplier in writing of any claims arising under this warranty. Upon receipt of such notice, the Supplier shall, repair or replace the defective Goods or parts thereof without cost to the Procuring Entity, pursuant to the Generic Procurement Manual.

6. Liability of the Supplier

The Supplier's liability under this Contract shall be as provided by the laws of the Republic of the Philippines.

If the Supplier is a joint venture, all partners to the joint venture shall be jointly and severally liable to the Procuring Entity.

Section V. Special Conditions of Contract

Special Conditions of Contract

	Special Conditions of Contract		
GCC Clause			
	Delivery and Documents –		
	For purposes of the Contract, "EXW," "FOB," "FCA," "CIF," "CIP," "DDP" and other trade terms used to describe the obligations of the parties shall have the meanings assigned to them by the current edition of INCOTERMS published by the International Chamber of Commerce, Paris. The Delivery terms of this Contract shall be as follows:		
	For Goods supplied from abroad: "The delivery terms applicable to the Contract are DDP delivered Far North Luzon General Hospital and Training Center, Quirino, Luna, Apayao. In accordance with INCOTERMS."		
	For Goods supplied from within the Philippines, state: "The delivery terms applicable to this Contract are Far North Luzon General Hospital and Training Center, Quirino, Luna, Apayao. Risk and title will pass from the Supplier to the Procuring Entity upon receipt and final acceptance of the Goods at their final destination."		
	Delivery of the Goods shall be made by the Supplier in accordance with the terms specified in Section VI (Schedule of Requirements).		
	For purposes of this Clause the Procuring Entity's Representative at the Project Site is Mr. Christopher Estelon.		
	Incidental Services –		
	The Supplier is required to provide all of the following services, including additional services, if any, specified in Section VI. Schedule of Requirements: a. performance or supervision of on-site assembly and/or start-up of the supplied Goods; b. furnishing of tools required for assembly and/or maintenance of the supplied Goods;		
	c. furnishing of a detailed operations and maintenance manual for each appropriate unit of the supplied Goods;		
	d. performance or supervision or maintenance and/or repair of the supplied Goods, for a period of time agreed by the parties, provided that this service shall not relieve the Supplier of any warranty obligations under this Contract; and		
	e. training of the Procuring Entity's personnel, at the Supplier's plant and/or on-site, in assembly, start-up, operation, maintenance, and/or repair of the supplied Goods. The Contract price for the Goods shall include the prices charged by the		
	Supplier for incidental services and shall not exceed the prevailing rates charged to other parties by the Supplier for similar services.		

Spare Parts –

The Supplier is required to provide all of the following materials, notifications, and information pertaining to spare parts manufactured or distributed by the Supplier:

- a. such spare parts as the Procuring Entity may elect to purchase from the Supplier, provided that this election shall not relieve the Supplier of any warranty obligations under this Contract; and
- b. in the event of termination of production of the spare parts:
 - i. advance notification to the Procuring Entity of the pending termination, in sufficient time to permit the Procuring Entity to procure needed requirements; and
 - ii. following such termination, furnishing at no cost to the Procuring Entity, the blueprints, drawings, and specifications of the spare parts, if requested.

The spare parts and other components required are listed in **Section VI** (**Schedule of Requirements**) and the cost thereof are included in the contract price.

The Supplier shall carry sufficient inventories to assure ex-stock supply of consumable spare parts or components for the Goods for a period of Three (3) Years.

Spare parts or components shall be supplied as promptly as possible, but in any case, within One (1) month of placing the order.

Packaging -

The Supplier shall provide such packaging of the Goods as is required to prevent their damage or deterioration during transit to their final destination, as indicated in this Contract. The packaging shall be sufficient to withstand, without limitation, rough handling during transit and exposure to extreme temperatures, salt and precipitation during transit, and open storage. Packaging case size and weights shall take into consideration, where appropriate, the remoteness of the Goods' final destination and the absence of heavy handling facilities at all points in transit.

The packaging, marking, and documentation within and outside the packages shall comply strictly with such special requirements as shall be expressly provided for in the Contract, including additional requirements, if any, specified below, and in any subsequent instructions ordered by the Procuring Entity.

The outer packaging must be clearly marked on at least four (4) sides as follows:

Name of the Procuring Entity
Name of the Supplier
Contract Description
Final Destination
Gross weight
Any special lifting instructions
Any special handling instructions
Any relevant HAZCHEM classifications

A packaging list identifying the contents and quantities of the package is to be placed on an accessible point of the outer packaging if practical. If not practical the packaging list is to be placed inside the outer packaging but outside the secondary packaging.

Transportation -

Where the Supplier is required under Contract to deliver the Goods CIF, CIP, or DDP, transport of the Goods to the port of destination or such other named place of destination in the Philippines, as shall be specified in this Contract, shall be arranged and paid for by the Supplier, and the cost thereof shall be included in the Contract Price.

Where the Supplier is required under this Contract to transport the Goods to a specified place of destination within the Philippines, defined as the Project Site, transport to such place of destination in the Philippines, including insurance and storage, as shall be specified in this Contract, shall be arranged by the Supplier, and related costs shall be included in the contract price.

Where the Supplier is required under Contract to deliver the Goods CIF, CIP or DDP, Goods are to be transported on carriers of Philippine registry. In the event that no carrier of Philippine registry is available, Goods may be shipped by a carrier which is not of Philippine registry provided that the Supplier obtains and presents to the Procuring Entity certification to this effect from the nearest Philippine consulate to the port of dispatch. In the event that carriers of Philippine registry are available but their schedule delays the Supplier in its performance of this Contract the period from when the Goods were first ready for shipment and the actual date of shipment the period of delay will be considered force majeure.

The Procuring Entity accepts no liability for the damage of Goods during transit other than those prescribed by INCOTERMS for DDP deliveries. In the case of Goods supplied from within the Philippines or supplied by domestic Suppliers risk and title will not be deemed to have passed to the Procuring Entity until their receipt and final acceptance at the final destination.

Intellectual Property Rights –

	The Supplier shall indemnify the Procuring Entity against all third-party claims of infringement of patent, trademark, or industrial design rights arising from use of the Goods or any part thereof.
4	No Further Instruction

Section VI. Schedule of Requirements

The delivery schedule expressed as weeks/months stipulates hereafter a delivery date which is the date of delivery to the project site.

Item Number	Description	Quantity	Unit of Measure	Delivery Period and Location
	ALL ITEMS			With-in 30 days upon receipt of Notice to Proceed at FNLGHTC

Section VII. Technical Specifications

Technical Specifications

Item	Specification Statement of Compliance		
		[Bidders must state here either "Comply" or "Not Comply" against each of the individual parameters of each Specification stating the corresponding performance parameter of the equipment offered. Statements of "Comply" or "Not Comply" must be supported by evidence in a Bidders Bid and cross-referenced to that evidence. Evidence shall be in the form of manufacturer's un-amended sales literature, unconditional statements of specification and compliance issued by the manufacturer, samples, independent test data etc., as appropriate. A statement that is not supported by evidence or is subsequently found to be contradicted by the evidence presented will render the Bid under evaluation liable for rejection. A statement either in the Bidder's statement of compliance or the supporting evidence that is found to be false either during Bid evaluation, post-qualification or the execution of the Contract may be regarded as fraudulent and render the Bidder or supplier liable for prosecution subject to the applicable laws and issuances.]	

TERMS AND CONDITIONS:

- 1. Submit valid FDA License to Operate
- Submit valid Certificate of Product Registration (CPR) issued by the Food and Drug Administration (FDA). Submission should be per product, with tabbing and per item number.
- 3. Deliveries shall have minimum of 2 years expiry date. For cases with less than the required expiration date, these items shall be replaced/returned to the winning bidder before reaching the 3rd month date of expiration unless otherwise with prior approved return policy.
- 4. Winning bidder/s for refrigerated drugs shall likewise consider the return/replacement of these items once failed with the temperature requirement during delivery.
- Deliveries of pharmaceutical products shall contain the primary packaging that is commercially approved by FDA.
- 6. If substitution or delivery of other brand/packing of the ordered item is allowed by approving authority of the Purchase Order as recommended by the end-user, the substituted brand/packing should be of equal or of better quality than the one ordered with valid certificate of product registration.
- 7. Deliveries of medicines with ADR complaint shall be put on hold until receipt of the final decision of the end-user's whether to proceed with the acceptance or to cancel/return the items.
- 8. In case the delivery of defective item/s, the pharmacy service shall have the right to reject the delivery or to require the pull out the defective item/s to be replaced within seven (7) working days from receipt of notice.
- 9. Delivery period within 30days after notice to proceed.

Section VIII. Checklist of Technical and Financial Documents

CHECKLIST OF TECHNICAL AND FINANCIAL DOCUMENTS

PROJECT:

APPROVED BUDGET FOR THE CONTRACT (ABC):

COMPANY:

DATE & TIME OF OPENING OF BIDS:

REQUIREMENTS		REMARKS	
		PASS	FAIL
<u>I. TE</u>	CHNICAL COMPONENT ENVELOPE		
	Class "A" Documents		
	Legal Documents		
1.	Valid PhilGEPS Registration Certificate (Platinum Membership) (all pag	es)	
	in accordance with Section 8.5.2 of the IRR;		
	<u>Technical Documents</u>		
2.			
	private contracts, including contracts awarded but not yet started		
	any, whether similar or not similar in nature and complexity to t	he	
	contract to be bid; and		
3.	,		
	similar to the contract to be bid, except under conditions provided for		
	Sections 23.4.1.3 and 23.4.2.4 of the 2016 revised IRR of RA No. 9184, with the relevant period as provided in the Bidding Documents; and	1111	
4.		lso	
4.	a certification issued by the Insurance Commission; or	150	
	Original copy of Notarized Bid Securing Declaration; and		
5.		les	
J .	production/delivery schedule, manpower requirements, and/or aft		
	sales/parts, if applicable; and		
6.	Original duly signed Omnibus Sworn Statement (OSS); (10 items)		
	and if applicable, Original Notarized Secretary's Certificate in case o	fa	
	corporation, partnership, or cooperative; or Original Special Power	of	
	Attorney of all members of the joint venture giving full power a	nd	
	authority to its officer to sign the OSS and do acts to represent the Bidd	er.	
	<u>Financial Documents</u>		
7.	The prospective bidder's computation of Net Financial Contract	ing	
	Capacity (NFCC); <u>or</u>	_	
	A committed Line of Credit from a Universal or Commercial Bank in I	ieu	
	of its NFCC computation.		
	Class "B" Documents	1	
8.	If applicable, a duly signed joint venture agreement (JVA) in case the jo	oint	
	venture is already in existence;		
	or duly natarized statements from all the natarial joint venture north	orc	
	duly notarized statements from all the potential joint venture partn stating that they will enter into and abide by the provisions of the JVA		
	the instance that the bid is successful.	7 11 1	
	THE HISTORICE HIGH THE DIG IS SUCCESSION.	l	<u> </u>

REQUIREMENTS	REMARKS
--------------	---------

			PASS	FAIL
I. FIN <i>A</i>	ANCIAL COMPONENT ENVELOPE			
1.	Original of duly signed and accomp	lished Financial Bid Form; <u>ar</u>	ı <u>d</u>	
2.	Original of duly signed and accomp	lished Price Schedule(s).		
3.	Electronic copy of Financial Bid Form	n in USB (Excel Form)		
	Other documentary requiremen	nts under RA No. 9184 (d	as applic	cable)
1.	[For foreign bidders claiming by reas of reciprocal rights to Filipinos] Certifit government office of their country state to participate in government procuritiem or product.	cation from the relevant ating that Filipinos are allow	red	
2.	Certification from the DTI if the Bidde Domestic Bidder or Domestic Entity	r claims preference as a		
NNE	KES			
1.	Authorized Representative of the Co	mpany		
	Official Receipt that Bid Documents but present original)		,	
	Company Profile (name of Compan Numbers/E-mail Address)		ne	
4.	List and location of branches (if any)			
	Bank Certification (for LDDAP purpose) a. Name of Account b. Account Number c. Branch of Bank d. That the Bank is a member of the	e clearing & settlement syste	m	
	List of Man Power and Organization	al Chart		
	PhilGEPS Documents Request List			
8.	Latest ITR (electronically filed) and Bu	usiness Tax Returns		
R	eesponsive	NON-	respon	SIVE
 Signat	BAC Member ture over Printed Name)	BAC Se (Signature over	cretaria Printed I	
 Signat	TWG Member ture over Printed Name)	Authorized R (Signature over	•	
	COA Representative ture over Printed Name)	NGO Represer (Signature over		

